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> anova(aov(y~Light*Fertilizer))
Analysis of Variance Table
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Response: y
Df Sum Sq Mean Sq F value Pr(>F)

Light 1 2.722 2.722 1.2895 0.278317
Fertilizer 2 128.444 64.222 30.4211 1.999%e-05 ***
Light:Fertilizer 2 40.444 20.222 9.5789 0.003263 **
Residuals 12 25.333 2.111

Signif. codes: @ ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 * ’ 1

> agricolae: :HSD.test(y, Light:Fertilizer, 12, 2.111,console = TRUE)D
Study: y ~ Light:Fertilizer

HSD Test for y

Mean Square Error: 2.111

Light:Fertilizer, means

v std r Min Max
1:1 7.333333 1.5275252 3 6 9
1:2 13.333333 1.1547005 3 12 14
1:3 1@.666667 1.5275252 3 9 12
2:1 9.000000 Z2.0000000 3 7 11
2:2 14.333333 1.5275252 3 13 16
2:3 5.666667 0.5773503 3 5 6

Alpha: @0.05 ; DF Error: 12
Critical Value of Studentized Range: 4.750231

Minimun Significant Difference: 3.984724

Treatments with the same letter are not significantly different.

y groups
2:2 14.333333 a
1:2 13.333333 a
1:3 10.666667 ab
2:1 9.000000 bc
1:1 7.333333 bc
2:3 5.666667 c
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